Lx - Hermite polynomlq\s L]

h x /2 n ~x"/2
Ax"”
Note: Hermite polynomials arise ih a2
prokability. Observe the ferm e

that is Jound un ‘H\Q,‘ﬂo:lxufl(z
Aistribution , ¥+ (x) = ——vl:_ e .

2w
N ()
o |
| x
2 xt—l
3 x>~ 3x
4 x Gx?--i- 3
Or-kkpj onq lH:y : |
Domain D = (=0, 0o) (Fossible valwes Ffor z)
-2
wix) = e (weightihg Funetion)
o
CHy, ), HpS = § R, GIH (D w(x) dx =nYHads
e . My

Cinner PNoluc-L\

wkere_ : SMn = l m=Rn
O wm=p

Note: Hermi te Palyuomtqj,s are or-‘l:l\ogondl

b\k’t “dt O'H\O '\OMqL' S ml.l"g hy
\

h! {z¢

makes +them orthonormal

refd: L1 w‘,kzpeo\lq-— Hermite polynomialg



